EARAROBREBRT —5 XN—ZXBISH—F

2021688298 (B) 6mlIIE2H

= vo<ER 4 US5R2mS5 0h5A

\ (Xl 2 \ (Ewl  — |5 () 14000 B2

[AE%]) 1 7%:1,90,000 ™ ~ 23&:760,000 ™  337%&:475000H . 43#&:285,000H 5 3&:190,000 /9
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
o 1 [FENEiaE=Y : -1-1- - =z =)
1155 2E—RT—7— 2 ks 1.(3_2).9 1-1-1-1 | 41.5 7 (4356) g;’;@%
RibE—RA—F— B:¥3avFVHIS thith #FR
° yF_ 8 2 | SEHEM 1:33.3 3-3-3-2 |41.4| — 3 428 | TR (111E)
21811 /NERRYF 54.0 @ @3 |ENER
RIIZART—ILYF— BRIV FOTVRIT7—LA
< B : -9-g- - S ()11
30111 ¥rova 4 2 ri (11313/25) 9-9-8-5 | 40.6 10 (3335) il (1)
R:D—URI—X 8:5THI—)LR YACT7—L
g whH— 4 2 | LUlEEE 1:34.0 8-8-5-8 |41.5| — 2 485 | EAE (1B
EH 6|¥Y—¥3 v 54.0 2172 (+4) BT :
RIIRART—IVYF— B:IEFF7IUAEY A fiE—
— - FEES : -4-5- - Lt (11E)
517] g | L=REYZR B2 B 1(73?:; 5-4-5-5 | 41.7 8 :1_539) ikl
R:aAN/VvF— B TFUIITSYTH =k e
5 ZJF . Jike Tk TR — ]
6 7| PR/ EAY 2 }%%” 1.33.9 2-2-2-2 | 433 4 4:3)2 Ii_IEE% (1)
RIAYYITSyya BiA—I—F7ARIL HBI7—LA
p it 2 | UMEEE 1:34.9 11-11-10-9 | 41.4 | — 11 | 419 |HEE (1)
7)8[10] TV 54.0 F) (o |KEER
R:U—=FHFoS5oy H:087)I— plIESEe]
- HEEE : -7-5- - LWWHEE (1)
8 3 YTFFFAA 4 2 *5%0.051 1(.13/52.)0 6-7-5-7 | 42.6 9 (3;867) L i}
R:RU—LYp—=— B:LyRYYIU Fllisus
~ -~ s 2 | OEHC 1:35.1 7-4-4-2 | 43.1| — 1 517 | SAERX (&)
9N 4| FYFY 54.0 o) Ly | xEEE
RFIPITRTUVR BNLRU—SI palzstre ]
> s ) | BRARE 1:35.8 10-10-11-11| 42.5 | — 5 463 | LLigtats (111E)
108Y 2| FPITVI-X 54.0 %) ) |BEEE
RiN—HANR B:Fa—FaK—7 g/l 8
~, S — BIEHEA : -4-8- - HEEF— (&
11171 8 | FYITFTYIv b 2O [ MRS ° ff) B RS
RibkoHO—LR B:HVFILI— KIS
@ 1—F—&RIEL
13—7— 5,7,11,8,9,3,4,6,1,2,10
20—F— 5,7,11,(4,8,9),3,6,1,2,10
30—7— 5,7,11,4,(3,6,9),(1,8),10,2
43—3— |5,(4,7,11),(1,9),3,6,(8,10),2
o ILRE
BB 5 2,500 JA R 5-11 2,550 % 3E 5-8 9,260M 3EE 1-5-1 163,760M
B B 5 500 1-5 6,350M (=1 5-8 16,8404 3EH S=11=1 1,482,770M
1" 190 -1 7,420 5 & 5-1 6,280M
1 1,210H4 =51 5-1 33,110

ABIC OV TRUTEREERRODDZE. THRIIZEL.




